68 FXEEFBAOIBTAZZY)

_ (2 E)
fMEFE | IEAL B E
RIE 1 143.6 FREEFHAOIAASEY)
LR 2 1145 \
el 3 107.2
X B AF 4 99.6
HER 5 96.0
ZME 6 95.5
BEE 7 93.3
BEE 8 92.5
FER 9 90.6
2 = — 89.9
AR 10 89.6
2| R 11 88.0
it & & 12 86.1
=i R 13 84.3 a?
R #R R 14 82.6 o
HEE 15 825 (B4LF)
-y 16 825 J W 00 ~
alg 17 82.3 B 0 ~ 100
o —e
(=PI 19 78.5
EEER 20 77.1 [1 ~ 60
xR 21 76.5 ]
= =] [¢]
=2 22 76.0
N 23 75.6
LBER 24 75.5
EHE 25 75.1
FEHRE 26 75.0
Iz B 12 27 735
—ER 28 735
wAage 29 72.6
ZFHER 30 70.0 —F———m e — - - - == "
EREE 31 69.7 I E m & 18 G2
=R E 32 68.2 I I
BmHE 33 67.5 I B 2 & 81.4 & I
AR 34 67.2 I I
oI 35 66.9 ! 2 E T 89.9 F !
EE B 36 66.6 e e e e - - - I
EF R 37 66.6
=R | 38 65.9 — XPEERT—4
mE R 39 65.5
EWLLE 40 65.5 4768 B R B 52.7 R
R E 41 65.2
LR 42 64.3 3511 M W 8 66.9 &
EiBER 43 61.7
MEER 44 60.6 2444 L B B 75.5 R
Wiz B 45 58.6
kEER 46 56.6 2914 W o g 72.6 R&
ERE 47 52.7
=-Rivi — P
OFE A& : FHREEFH - ADOLHEK
OFEH A : (0% ERIL4EE
(8 FRE14%E10A1H
OB H HF: (0F) BXRELEEMETFIR
(8B BBARET BRI AO)




